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___ Short questions (just write down your answers in one or two
A T
lines

1) 3%
- What are the units of Liquid Limit and Plastic Limit?

2)3%
Express the Mohr-Coulomb failure criteria in an equation.

3) 3%
What test do geotechnical engineers use to determine the

optimal water content of soil?

4) 3%
What test do geotechnical engineers use to determine the

permeability of soil?

5) 3%
What test do geotechnical engineers use to determine the

coefficient of gradation (C,) of soil?

6) 3% ‘
What test do geotechnical engineers use to determine the

undrained shear strength soil?

7) 3%
What test do geotechnical engineers use to determine the

swelling index of soil?

8) 3%
In geotechnical engineering, effective stress is equal to what?
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9)3% .
How to determine the soil’s water content?

10) 3%
In geotechnical engineering, what soil properties can be
determined with the direct shear test?

— Long questions
1)
a.5%
Draw the test set-up of the constant head test and derive the

governing formula to determine k.

b.5%

The results of a constant-head for sand are as follows:

® Constant head difference = 500 mm

® Time for collecting water = 5 min

® Volume of water collected = 350 cm?®

Given the soil sample having a diameter of 150 mm and length
of 300 mm, fine the permeability of the sand.

2)

For a normally consolidated clay, the results from a triaxial “CD”
test are as follows: confining pressure = 104 kPa, deviator stress
at failure = 125 kPa

a) What does “CD” stand for? (2%)

b) What is the friction angle of the scil? (5%)

c) What is the angle between the failure plane and the major

principal plane? (3%)
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3)

AL daA B £ B (R 3K H /1 % B Cy=45kPa » 4
B4 Eyoa=20 KN/M) § B 544 3% > BT BAIEEAREA 10
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5)
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